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(d) The function f{r, y) is dilferentiable at (0,0).

) edl: Xiw Hrm) = Flow) <o
(CR S IUR

L 39 = L vEsmocose
Uy) >y - <
—>0 N

= e 03® =0 -1,
o

3 Nd 1) wee e dabudin:
L | $trg) = (Ho) + DY ‘L‘;"X\ \
(x3) = ow INCIEN /
= Lim &5 -G B ()5
(1g) > e vy

- J,\vy _&— ‘f\\‘\‘i LM\“’r )\3\05 Y exisk.
() () WPt

NNV VS Lk 15 wot AT 30 ret Nodkeredals.

N\(’;\%\)\L \ CLLLK “’\VA’ SLL()V\I)\ PU‘F‘MA\ D\—Q{\\V A\\‘\\,L S Qre
c ot lawovse J;\m\\\vxs .

il e i o el st b 6) By ossumpbon b all (7)€ ¥

L
v ey Moeowm £ 50ye) LW

W Sy Hg) =ML So DS = [epenl) B

TSI

(-uny' [\H)I + 4t =

A L R L N ¥ O L
= 31 D t=:9
So AL (8 ,)\(-S’.’:\ are

‘oo{\/\") whe V€ l :vA\lme})
AT STLur, .

»

nsbder [l y) ) o+ 4oy II--.l_-.u--\-u'-'-.-.-l points are o g ) CQW‘O\A\'\\( ‘FLL H‘/ﬁ&i AN

k3
I a_", = l'xx) 4 b“— = 2
— p) T2 9
i) gAB (i) S&‘D i) “'\X )X

ok

EVASY
bx>~j

ot

- ._7,~) A 7‘1‘ & X G)LQ
2y

[ ORI SO |

FriWeek10 Page 2



o} o5

— - =14 L ox g - -
" Rk 5 T T
lv) Ly 2
g‘a Db‘ '3\ = \lrﬂ -1 \ = 'L\\j - (27(-\\)
0) Do) = v 20
ii) \)(»\\o) = _\ Lo
i) O(-vy-wm) = -4 (%) - (2Cu)n)
-/, vo
Alse OL—L A \
o (h ) 7 U o
So  4ke  Hesstan 15 N%‘ (}\f}h\'f\c, B
e e ot A0 Uae e Se co N J\Qﬁ\r»\\‘\n test:
Moo oaxony 2k 2’k —ox
I ox %Y
b)) aLL
—_— = -X X i =
D‘J ke D\jl ¢
So Py

D(olo\ /—\z_;_i) = L\’)\Z

A Do flen Loy Ts  amin,
i ple,0)20, Ylea Lon) s w sakdle.

SO we So\\m 0 :‘DU\Q - \_\ _)‘L :7 >\:t 7. z]

0. Sele *\& Sy sdewm o a_/( wat \“m,s :

(2D =VHe) = )T ) =X (2%, 2y)

J 1 =XX D)
= Ny ®
‘I~1+~)7"-\ @

Pb\) ®] Y40, Then \k-*'\‘r\) (D\@, wi have

= -\’:Z
\kmj D) with @ Y yragt =y = oy =t \L«
Ten by W¥)  x- 2 B e vy

"(%s’\ _\@s\ < 3% ‘ Ss’(—%’s {&(\ - 35 7.}

e Masimire  A5(%,2) = % 797417 suljed ot
ConsXvmiink X+y + 3= l%\, L&ﬂfum,,q

FriWeek10 Page 3



o paaliik=) Find the distanes of the origin to

o Masinize  A5(¥9,2) = x* 797417 sulject btk

FriWeek10 Page 4

A} CondsNiuind xXyy it p=l, l?)\7 La.ofu»\;,q
(?.X)L\))'Lt\ =X (1, )
S J'Ly») © Ry 0,00, we 354
Ly = > ® X= Y =1
2% = 6 G ®
Xryt31=1 O H'U\(a) 7 ‘
Iy =\ SO xz%———\\={~
So we have a.sw\va,lL e\t eul Foiv\\' (\/sl‘/”s,\/s)_
Se —\\,-L AR v b\\b'\ et S
\
Woam - S s - &, W@
(B W) =
Dfin,v) Lu 2 Bn...,;. [t—)x %3 x\)\ Diga f){,1) [o\—l-x 01 T
1)3(5(,‘1\%) = [v)q; Xt oxy J
Cl\u; AVNLVZN
Wse n R el = Da (D) - Dy
T Dg( ) - D $ (o)1)
= R -
" L. -\ o o - [6 -1 hx )
| |
I. ‘l;llll pate the folk \3 ) A\ v_} L)(l\f)) - <__\3 St b(\)\ ) - X $\n L'Y \3334
T i WIS TRY - (R T s Th)
The « I £ the d 1 dleri 1 = (_ '\l; : 13 }
Novmalite - (J‘T/I 1\) T AN
Sjl_,_/_/J - ’L/“:“ \ W::
fr\/"\ +
N Oy = S -
9 poi Id F : B oy ¥ Computs: the foll "\ o\\ N- Fo- (?DV')/D‘M B/Dt) : va )VS \’L.)
F)=V-F O b()
N = 222 9 2

I ) curl(F) = ¥ x F L‘))D\DB S>X + %\3 1 )2’1—



= - 2 J
(0 ) — + 2 L

it

(0_0)0-0)(}»0\;&0\»\0)
Q N «yu\)\\w’y wedhoe AL u A e fum
\: :V% Srvf Svw 2 CPL x'\ﬁ

T R —
Se £ S o« g\\(m)\\m\* veduw NAN S\

'Q'X?F = 0 m
2z
# poi + b)
) |I fer Taylor \:;:...:---. Taylor approximation) of f{z,y) = xe¥ at (0,0). 'S %; =< — aa/‘\;(p)b\ = ‘
) Fis he second order Tayhor polypomial (or Taylor apy [ f a — \5 z
% %y o€ — 2y o
d \
3% J
- =0
PR — %Up\ =6
z
L — 3 ()=
Q;Dj S
XSS v
_ )
R — %‘ py=0
Then TL—“H"\ b&‘ﬁ\ = i(,’);\:ix(o\o)x X -‘\)l\,\n\ Y o+ l?. L&W (b]‘o\ yz + ’L-&*jlopﬁ XYy 4 L77 (6)0) \)z>
o
T\ o) Uy ﬂ

= O + X g0 +7‘/(0 +1><\1+v>

= X Xy,

FriWeek10 Page 5



